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P2 () T IH AT B, S5 4 @ fa IR & IR g |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) TRl g7 & Gt ST %) FHER 0 Grel 8 Hilrd |
Solve all parts of a question consecuti vely together.
(iii) T T ) 79 98 & S B |
Start each question on fresh page.
(iv) ﬁﬁwﬁﬁmﬁ?aﬁ@ﬁﬁaﬁﬁmﬁm? /
Only English version is valid in case of difference in both the languages.

1. (1) MW A% Guidl 8

(a) @A dteedl (b) e =

(c) o1 @ud (d) sHferehan w

The area under load curve represents

(a) system voltage (b) average demand

(c) energy consumed (d) max. demand
) mﬁ—wﬂaﬁ_ﬁmam%a&amﬁ% ?

(a) WRUHUR (b) R UE T

(c) Siudad (d) Sl Td ¥R

Energy load curve between which two parameters ?

(a) load and current (b) load and time

(c) energy and time (d) energy and load
(3) femeft wife e b W oI Bl ?

(a) 37 A AfH (b) IHEEHEFH

(c) IS E To AU (d) 39U 8BS T

The load factor of any power plant is

(a) more than unity (b) less than unity

(c) always more than unity (d) None of the above

(1 0f8) P.T.O.
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(4) ) e AT B W & F ST AL R, I HHA A 50 MVA @@ 75 MVA

)

©)

@)

@®

3 T & 100 MW 2, 30 Gty @ @ P, Y 15 + 15 P, T W P,
18 + 15 P, R4l P, T P, %1 A 1 &1 ?

(@) 60 MW T 40 MW (b) 50 MW S

(c) 72MWTE28 MW (d 30 MW TE 70 MW

Two generating station connected to a load centre are having capacity of 50
MVA and 75 MVA & deliver 100 MW to the load. The incremental cost of the
plant P is 15+ 15 P and plant P, is 18 + 15 P,. What are the value of P, and P, ?

(@) 60 MW and 40 MW (b) 50 MW each

(c) 72 MW and 28 MW (d) 30 MW and 70 MW
i # Wik Seare § ged Wi & gRI Bl & |
@ TES-EmuReEE (b)) AR uiE
(c) amdg wike @9 (d) e e wife g

Major share of power generation in India is by
(@) Hydro-electric power plants (b) Nuclear power plants

(c) Thermal power plants (d) Gas turbine power plants
fapeht 3avirerT % ford amet 2w 2

(a) TR (b) ofi O ®

(c) wATh AW (d) 39U | B3 &I

Ideal tariff for any consumer is

(a) Two part tariff (b) Three part tariff

(¢) Block rate tariff (d) None of above
mwTe ?

(a) TEAREESAEAR@ (b)) ST fregd S ohi Al T
(©)  (a) 3 (b) T (d) I A § g T
What is Tariff ?

(a) Rate at which electrical energy is produced in plant.

(b) Rate at which electrical energy is supplied to consumers.
(¢) Both (a)and (b)

(d) None of the above

e R ST Y i ST qesr) Hict S R A A IHA @ 7

(a) TR QUG (b) qEITHRI A

(c) U helld I | d <rE. AR

An over excited synchronous motor on no load is known as
(a) Synchronous condenser (b) Synchronous motor

(¢c) Single phase motor (d) D.C. motor
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us e 9 0.6 TvETHt wIfE OIS W 300 kW T 9T 3gfd shtar 2 | Jfe with
T Y 0.8 deh el fean S at S FEd kVA i g fopan arfafes kw

Y LT ?
(@) 150 kW (b) 100 kW
(c) 200kW d) 225kW

An alternator is supplying a load of 300 kW at power factor of 0.6 lagging. If the
power factor is raised to 0.8, how may more kW can be alternator supply for the

same kVA reading ?

(a) 150 kW () 100 kW

(c) 200kW d) 225kW

IuxiieRT 3 Ford ErumuTaRT wad fhwrd wfth T #al 2

(a) 0.5 =T (b) 0.5 gETH

(c) 0.95 gyt (d) 0.95 g

For the consumer the most economical power factor is generally
(a) 0.5 lagging (b) 0.5 leading

(c) 0.95 lagging (d) 0.95 leading

Teh AT ST HIE § W T bl q@ S for HeTi i T @
(a) WY Avfiskn °§ (b) WIS % GHI

(c) ueaansfEn % oft | (d) e argfed o ot |

To improve the power factor of a single phase motor the capacitor should be
connected in

(a) series with motor (b) parallel to the motor

(c) series with main winding ~ (d) series with the starting winding

forr o @ forml we@ e AftE o BT R 7
(a) Torega v S A (b) ufonfim
(c) SwHEA d) S

Which one of the following has the poorest power factor ?
(a) Electric fan induction motor (b) Transformer
(¢) Induction motor (d) Induction furnace

A 3T BYA ¥ 19 AT g ZRAH & o, S dicear % stE H B
B e |

(@) 0° (b) 45°

(c) 60° (d) 90°

For maximum power transfer to take place between two inter connected stations
angle between voltage of the two should be

(@ 0° (b) 45°

(c) 60° d) 90°

P.T.O.
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st ST 3 e e 3 o 3 1 I B
(a) Sy (b) wiqErds
(c) HuE d) 3T A | B3 L
For stable operation of interconnected stations the element used is
(a) Resistor (b) Reactor
(¢) Capacitor (d) None of these
(15) a= i aqﬁxqéaﬁmaﬁ%amaﬁﬁﬂ%mm% ?
(a) WFIAREE sfafmmsfia ofe
(b)y @fFa ol

(16)

(17)

(18)

(19)

(¢) wfafsrarsfia ufte

(d) IuURR H 8 HIS TE

System frequency and system voltage are controlled by

(a) active power and reactive power

(b) active power

(¢) reactive power

(d) None of the above

e e & Syt wenfr s SR fo S

(a) Fora e afogfd % o (b) STE 1T Y HH B H Tl
(c) g ThTe HT Sl e % o (d) T T W YT % fed

Series capacitor is used in the transmission line to

(a) compensate the voltage drop (b) reduce line losses

(¢) limit short circuit current (d) improve load factor

EHV & § FHET=R Id 92 meﬁmaﬁgﬁﬁ%%ﬁ%mm%
(a) ETRICE Td HIee oiac (b) Hiee STt Ud alees TeEd
) deaTmEaEEEE (d) 39t & Tt

Shunt compensation in an EHV line is used to improve

(a) stability and fault level (b) fault level and voltage profile
(c) voltage profile and stability (d) All the above

Ofs ar (VAR) FEAEE F THT 8

(@ FC-TCR (b) FSC-TCR

© (@ 3MO)TAN (d) I A A HIS A

Type of static VAR compensator are

(a) FC-TCR (b) FSC-TCR

(¢) Both (a) and (b) (d) None of above

T i TfeEan g Steedl 1 I B

(a) 400kV (b) 220kV

() 132kV d) 765kV

The highest transmission voltage use in India is

(a) 400kV (b) 220kV

(c) 132kV (d) 765kV



EE308
(20)

21)

(50f8)
SUST TTereh HH AT 8
(a) o FEad REa T (b) e s ()
(c) g KR (d) 3 A HIE

Bundle conductors reduces

(a) surface electric stress of conductor
(b) line reactance

(c) line capacitance

(d) None of above

EHV ®15 # 911 &1 919 1 AU 8
() T & S (b) T TE Al eTHtE o e
(c) e dieea (d) IUUH B &I

The conductor of an EHV line is selected on the basis of
(a) current carrying capacity

(b) corona and radio interference performance

(c) line voltage

(d) None of above

(22) T feaf o g 6 wudyd T B 2

(a) 100 KVp/cm (b) 21.2KVp/cm
(¢) 30KVp/cm (d) 200KVp/ecm
The dielectric strength of air under normal condition is about
(a) 100 KVp/cm (b) 21.2KVp/cm
(¢) 30KVp/em (d) 200KVp/cm

(23) & o For % & e wfl =TT e AT 6 B 7
(a) EMMEIER (b) AHEER
(c) aTsdIeR (d) I T HE TE
In which type of DC link all conductor have negative polarity
(a) Homo polar (b) Mono polar
(¢) Bipolar (d) None of above

(24)

HVDC e 3 12 To8 Hwadt o srfisal 3 & i
(a) g e FxfFea wreE ) e HErE |
(b) e Wt ToTieh & GER HT1 R |

(© (a) IR (b)

(d) 39§ F HE T

12 pulse converter is preferred in HVDC system because
(a) Iteliminates certain harmonics (b) It improves power factor
() Both (a)and (b) (d) None of above

1010

P.T.O.
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(25) afe = forat &1 wrfin Hiv 90° & T BraT at Fors &1 HH HL1 8 7
@) e v iy dig § T 2 |
b) Bt T TR A i FmEE R |
(c) fors s T T 2 |
(d) TTEE HE A |

If the firing angle of the converter bridge is less than 90°
(a) Bridge works in rectification mode |
(b) Bridge works in inverter mode

(¢) Bridge does not work

(d) None of the above

(26) .. gawor v, i gorn § e | o g 2

(a) WA (b) wufE

(c) oher faeymaH (d) ST At

As compared to a.c. transmission, d.c. transmission is free from
(a) Inductance (b) Capacitance

(c) Phase displacement (d) All the above

(27) AT ! HH HL Thd 8
(a) T e i TG
(b) TeTeh o sfta I gll Bl HH Fh
(c) Wl =T ST 4T i §¢1 Hh
(d IWwAadfid
Corona can be reduced by
(a) Increasing operating voltage
(b) Reducing the spacing between conductor

(¢) Increasing the effective conductor diameter
(d) All the above

(28) SATEAL o W VAT B hY FETEAT BNl 2
(@) oo aga & (b) E= AT |
(c) atearshond (d) wfdmaad
Corona is likely to occur maximum in case of

(a) Distribution line (b) Transmission line
(c) Domestic wiring (d) Service main
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(29) U1 FIFF Had W Eial & 5
(a) TEHHERAB FAFAE | (b) iy STeis &1 @M B & |
) wEAATHURRERE  (d) Tt ! U T HH A
Corona loss are minimised when '
(a) conductor size is reduced
(b) smooth conductor is used
(c) sharp point are provided in line
(d) current density in the conductor is reduced
(30) T HT FaA ThH AN R, A AR
() g IgHF@R |
(b) &l % G GUe ared <hl a8 HH B |
(c) oIS HT0 I WEAIEISH Sl € |
(d) TEX THTYh THh Tg HAT L |

The only one advantage of corona is that

(a) Ozone gas is produce

(b) Works as a safety valve for surges

(c) Makes line current sinusoidal

(d) produces a pleasing luminous glow (1x30)

2. (i) I wE e Ui @ gReiye i |

Define demand factor and diversity factor.

(i) 2fo ¥ fafir weer o T i |
Name various types of tariff.

(iii) = ek TUTTh o 1 TS 81d & 7
What are the effects of low power factor ?

(iv) =it wifth T & & iiicell
Write the advantages of interconnected power system.

(v) e s - fev st wfonfya S |
Define disruptive critical voltage. (2x5)

3. () e R % AT W St 9 § 9 3R 2 7 foz wfta awsnsd |

What is the difference between chronological load curve and load duration
curves ? Explain with diagram.

(i) mﬁmaﬁwﬁama@mwaﬁaﬁﬁﬁl

Discuss the factors affecting the cost of the generation. (5+5)

4. (i) mﬁamﬁmﬁﬁﬂa%ﬁmaﬁwﬁ |
Explain the Hopkinson demand rate tariff and Doherty demand rate tariff.
(i) 2w F Iedl i v Hif |
Describe objectives of tariff. (5+5)

P.T.L.
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5. (@)
(i)
6. (i)
(i1)
7. @)
(i)
8. (i)
(i1)

(8 of 8) .1010 _,
wifv Turieh g <t farfirer fafert =t ol i |

Explain various methods of power factor improvement.

e 60 Tt 1z Y fred S0 HET 0.8 FEERTT Wit U A W R | 3G
TS @ FereRt 0.9 T fea Al KVA 9103 fereft @t nft sma Hif |

An induiction motor of 60 kW is operated on 0.8 lagging power factor. If power
factor is improved upto 0.9, then calculate the reduction in KVA demand. (5+5)

mﬁm@mmﬁmﬁmwww I
Discuss the real and reactive power control of alternator.

P weR 3 wifth Gt 8 S % amEves i fom % werar & auged |

Explain with diagram load allocation to various types of power stations. (5+5)

Sreest freor i fafiya fafert ot aofa Hifsd |
Discuss the various method of voltage control.

TCR 31 TSC YT F VAR Wi i guensd |

Explain the TCR and TSC VAR type of reactors. (5+5)
31 dicedl fepuRT G=Rw & @ 9 € ferfad |

Write advantages and limitations of high voltage D.C. transmission.

HVDC et RIA % a0 $ifs |

Discuss the HVDC converter station. (5+5)

9. ferdi @ wx wfiam feouvft ffigd

Write short notes on any two :

)

(i)

9Uscl 9icish

Bundle conductor
AT B! H9 S & faferm

Method of reducing corona

(iii) EHVAC — HVDC & g1

Comparison between EHVAC — HVDC. (5+5)




